) % &4 R ELR ¢

Crane Components

N\ [/

“ b

i F E P — []

' e e pemer s e—— i

2+
Az 18 '.-t""""'-"l_'. .

| [—ap—|

_:.-..]
“::I o

, SGS




ZOza TR EREE  TOP RUNNING END TRUCK

A BT FE
R EIGR R B SR IB ML ©

A All-in-one end truck
End truck and hollow shaft drive Wheel Block are integrated formed
and welded by heavy plate steel.

A EiRTEHERFE
5 55 SHAE LIS AR S IR W SR RO B 4 -

A Wheel head end truck
Wheel head kits are bolted to the saddle by screwing connection.

Bk
@ BENBRAERBHMARSERESRE -

@ ek E T R LACNCHE R OB T - , ” .
@ EEMMRUBEERLNRT R - G :
© HiFEH EIZIBRIESE 0 BEE B AR - v e
@ B BRENBRERERF SNBE - pr————_
@ S FIRMMNMBE LFEE ML - EEHRCA0-45 | |

® R EHMEAMIAR + 748 8 2 MH IR RIER - T .

B TOP RUNNING END TRUCK

@ Bearing mounting area of End truck is precisely machined by CNC machining center.

® Wheel Axles are precisely machined high grade steel and pressed fitting into the wheels.

@ End trucks are supplied with rubber bumpers bolted to the end plates.

@ End plates are bolted to the end truck frame for easy wheel removal.

@® Wheels are double flange forged or cast steel precisely machined and hardness HRC 40~45.

® Connecting plate between girder and end truck could be supplied as a option and come complete with

whole connection bolts and welded plates. ;'r'ff

"l
I‘
T e
uli e
ol g
.r"‘.""lfl
L
P ‘ﬂ
|F...I-



il

o o

@ HFEARERERE - LICNCHE L+ D
MI o

@ 15 IS i R E % IR REARENE
FOSEE -

@ EFIECE Bk B R EB M 1S -

@ EAIECEEN ERBAEREWBENAE -
RERNER -

@ ki 1 LURE (R B 019 58 5L L AT OB 3

@ G RE  BET U ERERTER 2
RTER -

BHOLLOW SHAFT GEAR REDUCER MOTOR

@ Gearboxes are rugged cast iron construction
precisely machined by our CNC machining
center.

@ Precision gearing is a combination of helical
gear and spur gear to provide quiet and
trouble free operations.

@ Comply with/IEC motor frame no. and rugged
cast iron construction.

@ Utilizing IEC motor brake, a rectified DC
Magnetic Disc Brake with a Cooling Fan
enclosure.

@ Large oil reservoir insures constant adequate
lubrication and thermal dissipation.

@ Motor could be changed without dismounting
the gear box because of its modular design.

W ERE

@ HHBMETRKB//ERE  ThEE
N ERH T RIBEHEEZIRE -

@ HNHik ERFTHREERGERZHMET -

BWHEEL BLOCK

@® The wheel block travel units system is
precisely engineered for outstanding
performance and minimal maintenance
proven under full dynamic load.

@ Torquearm, connecting parts and bumper

are easily fitted.




h

Z Gl
ha

B

& 3R BE3Z HOLLOW SHAFT GEAR REDUCER MOTOR

5

E
F
A C -
.{.\; f :E
.E,/ ,_”‘-_._, (s df = L
K || Eo [T
o e
—L"_
__...._.—__] =
)

ui
o

] s
=
wo |

B AR B 8 ﬁﬁmﬁtt Eh i8S R ~F Approximate Dimensions (mm)

i | . | . . : |

Model | Gearbox ceg oo P W) Poe®) A | B | c | D | E | F | G |¢H| I | 3 | K
HS2-28-04 28 0.4 4 14 | 305 | 198 |142.79| 394 | 63 | 25 14 | 45 /19780| 3
HS2-36-04 36 0.4 4 14 | 305 | 198 142.79| 394 | 63 | 25 14 | 45 19780 3
HS2-14-07 14 0.75 4 14 | 305 | 198 14279 431 | 63 | 25 14 | 45 19780 3
HS2-18-07 HS2 18 0.75 4 14 | 305 | 198 14279 431 | 63 | 25 14 | 45 19780 3
HS2-22-07 22 0.75 4 14 | 305 | 198 14279 431 | 63 | 25 14 | 45 |197.80| 3
HS2-31-07 31 0.75 4 14 | 305 | 168 |142.79| 431 | 63 | 25 14 | 45 19780 3
HS2-45-07 45 0.75 4 14 | 305 | 198 [142.79| 431 | 63 | 25 14 | 45 |197.80| 3
HS3-18-15 18 1.5 4 16 | 355 | 234 17584 542 | 81 | 27 14 | 45 22884| 4
HS3-22-15 HS3 22 1.5 43 16 | 355 | 234 |17584) 542 | 81 | 27 14 | 45 |22884| 4
HS3-56-15 56 1.5 4 16 | 355 | 234 |175.84| 542 | 81 | 27 14 | 45 22884 4
HS4-45-15 45 1.5 6 20 | 450 | 276 | 211 | 548 | 91 | 30 | 22 | 62 | 286 | S
HS4-63-15 63 1.5 6 20 | 450 | 276 | 211 | 548 | 91 | 30 22 | 62 | 286 | 5
H54-28-22 HS4 28 2.2 4 20 | 450 | 276 | 211 | 548 | 91 | 30 22 | 62 | 286 | S
H54-40-22 40 2.2 4 20 | 450 | 276 | 211 | 548 | 91 | 30 | 22 | 62 | 286 | 5
HS4-45-22 45 2.2 4 20 | 450 | 276 | 211 | 548 | 91 | 30 22 | 62 | 286 | 5
HS4-63-22 63 2.2 4 20 | 450 | 276 | 211 | 548 | 91 | 30 22 | 62 | 286 | 5
HS5-80-22 80 3.2 6 24 | 524 | 338 |265.77 594 | 111 | 35 22 | 60 34077 5
HS55-90-22 90 2.2 6 24 | 524 | 338 26577 594 | 111 | 35 22 | 60 34077 5
HS5-36-37 36 3.75 4 24 | 524 | 338 26577 594 | 111 | 35 22 | 60 34077 5
HS5-45-37 HS5 45 3.75 4 24 | 524 | 338 26577 594 & 111 | 35 22 | 60 340.77| 5
HS5-80-37 80 3.75 4 24 | 524 | 338 26577 594 | 111 | 35 22 | 60 34077| 5
HS5-90-37 90 3.75 4 24 | 524 | 338 265.77 594 | 111 | 35 22 | 60 [34077| 5
HS5-56-37 56 3.75 4 24 | 524 | 338 |265.77| 594 | 111 | 35 22 | 60 34077 5

Bl g ¥ieg )] <T Approximate Dimensions (mm)

Model L M| N|O| P | Q| R| S |[oT| U |V | W|[ox|oY| z |2E
HS2-28-04 130 | 37.21 [M10*15 47 | 65 | 8721 | 165 | 156 | 30 8 | 333 129 | 32 | 28 7 6
HS2-36-04 130 | 3721 M10*15 47 | 65 | 8721 | 165 | 156 | 30 8 |[33.3)129 | 32 | 28 7 6
HS2-14-07 130 | 37.21 [M10*1.5| 47 | 65 | 8721 | 165 @ 175 | 30 8 | 333 | 129 | 32 | 28 7 6
HS2-18-07 130 | 37.21 |[M10*1.5 47 | 65 | 8721 165 175 | 30 8 | 33.3| 129 | 32 | 28 7 6
HS2-22-07 130 | 37.21 M10*15 47 | 65 | 8721 | 165 | 175 | 30 8 |333)129 | 32 | 28 | 7 6
HS2-31-07 130 | 37.21 |M10¥15| 47 | 65 | 8721 | 165 | 175 | 30 8 [ 333 129 | 32 | 28 7 6
HS2-45-07 130 | 37.21 [M10*15 47 | 65 | 8721 | 165 | 175 | 30 8§ [ 333 129 | 32 | 28 7 G
HS53-18-15 160 | 41.66 |M12*175 52 | 80 |10416 175 | 196 &= 40 | 12 | 43.3 | 150 | 40 | 36 7 8
HS3-22-15 160 | 41.66 M12f175 52 | 80 |104.16] 175 | 196 | 40 12 [ 433 [ 150 | 40 | 36 ” 8
HS53-56-15 160 | 41.66 |M12¥175 52 | 80 [10416| 175 | 196 | 40 | 12 | 43.3 | 150 | 40 | 36 7 8
HS4-45-15 220 | 64 M16*20 62 | 90 | 139 | 225 | 219 | 60 18 | 644 | 174 | 62 | 56 | 10 8
HS4-63-15 220 | 64 M16¥20, 62 | 90 | 139 | 225 | 219 | 60 | 18 | 64.4 | 174 | 62 | 56 10 | 8
HS54-28-22 220 | 64 M16*20 62 | 90 | 139 | 225 | 219 | 60 18 [ 644 | 174 | 62 | 56 | 10 | 8
HS4-40-22 220 | 64 M16¥20 62 | 90 | 139 | 225 | 219 | 60 18 | 644 | 174 | 62 | 56 | 10 8
HS54-45-22 220 | 64 M16*20 62 | 90 | 139 | 225 | 219 | 60 | 18 | 644 | 174 | 62 | 56 | 10 8
HS4-63-22 220 | 64 |M16¥20] 62 | 90 | 139 | 225 | 219 | 60 18 | 64.4 | 174 | 62 | 56 | 10 8
HS5-80-22 260 | 73 |M16¥20, 60 | 110 15823 225 | 219 = 70 20 | 75.4 | 194 | 72 | 62 | 12 8
H55-90-22 | 260 | 73 |M16*20] 60 | 110 |158.23| 225 | 219 | 70 | 20 | 754 | 194 | 72 | 62 | 12 | 8
HS5-36-37 260 | 73 |M16¥20, 60 | 110 |158.23| 225 | 219 | 70 20 | 75.4 | 194 | 72 | 62 | 12 8
HS5-45-37 | 260 | 73 |M16*20 60 | 110 15823 225 | 219 | 70 20 [ 754 194 | 72 | 62 | 12 8
HS5-80-37 260 @ 73 |M16*20 60 | 110 158.23 225 | 219 | 70 20 | 75.4 | 194 | 72 | 62 | 12 8
HS5-90-37 260 | 73 |Mi16*200 60 | 110 158.23| 225 | 219 | 70 20 | 75.4 | 194 | 72 | 62 | 12 8
HS5-56-37 260 73 |MI6¥20 60 | 110 15823 225 @ 219 @ 70 20 | 75.4 | 194 | 72 | .62 [ 12 8




Eﬁﬁ%ﬁ{%é}] %E B HOLLOW SHAFT DRIVE WHEEL BLOCK

774|546

A ]
Sy
(RER T
: :JI :: : & @]
SRR (RiSEtdtin
H R
f;,};l] il;“ F1:_—__
Lf'--'i_}fh & &)
e Y — L
I-T:u !
D =
o= L
AUz A -
Product Code : N 26
& I
WH| = [2] - [12] - [24] - [o4 - [D j$:$r$‘i i
| ] | | | il B f*\ |
HiRTEHE wARER W1 RE Bh  D=138)s ; -;,:\:T;;—— — e AR §
Wheel  Gearbox Wheel Speed  Power Driver el | 55
- e
Head  2=Hs  Dia.B 04=0.4kw I=FE@hie | !
3=HS3 07=0.75kw  1dle LESI=L =
4=HS4 15=1.5kw : <
5=HS5 22=2.2kw = :
0=none 37=3.75kw J
0=none ,
"L
AU g B 5 ﬁ:ﬁ “fj *ijj TR EE %;ﬂ Bims R ~T Approximate Dimensions (mm)
: er | Reduh e | B |
| Model :Gearmxg;arhﬂ}(m‘,mm}.(kw]wm?n ® | A|/B|C|D|E|F|G|H|I|J|K|L/M|N| O |
WH-2-12-24-04-D 125/ 24 | 0.4 1/28| 4 |206/371 150|125 155| 44 136|198 394 592/36.5 16 88 166 M14x20
WH-2-12-36-07-D 125 36 10.75 1/18 4 |206/371 150 125/155 44 136|198 427 625 36.5 16 | 88 166 Mi4x2.0
WH-2-12-48-07-D 125 48 |0.75 1/14| 4 206/ 371|/150/125 155 44 136 198 427 625 36.5 16 88 166 M14x2.0
WH-2-16-24-04-D 160 24 0.4 |1/36/| 4 226 395/190 160/188 50 |136 220/394 614 19 16 121 186 M14x2.0
WH-2-16-36-07-D 160 | 36 |0.75 1/22) 4 226/395/190 160 188 50 136|220 427 647 19 | 16 121 186 M14x2.0
WH-2-20-24-07-D 200 24 0.75 1/45| 4 250 419 235 200225 60 136|252 427 679 1 | 16 158) 210 M14x20
WH-2-20-36-07-D 200 36 0.75 1/31 4 250 419/235 200/225 60 |136 252|427 679 1 | 16 158 210 M14x2.0
WH-3-16-48-15-D 160 48 1.5 1/18 4 226/430 190/160/188 50 156 218542760 37 16 121 186 M14x2.0
WH-3-20-48-15-D| HS3 200 48 1.5 1/22 4 250 454 235 200 225 60 156 247 542 789 17 16 158 210 Mi4x2.0
WH-3-25-24-15-D 250 24 1.5 1/56) 4 300 479 284|250 265 80 |156 297 542 839/ 8 | 16 179 250 M16x2.0
WH-4-25-36-22-D 250 36 | 2.2 '1/40 4 300/539 284|250 265| 80 179290 548/838 13 | 16 179 250 M16x2.0
WH-4-25-48-22-D 250 48 2.2 |1/28| 4 |300/539 284 250 265 80 179 290 548 838| 13 | 16 179 250 M16x2.0
WH-4-32-24-15-D - 320 24 | 1.5 1/45 6 335 604 360|320 350 80 |179 320.5548 868.5 22 | 20 250 284 M20x2.5
WH-4-32-36-22-D 320 36 | 2.2 |1/45 4 335 604 360/320 350 80 |179 320.5548 868.5 22 | 20 | 250 284 M20x2.5
WH-4-40-24-15-D 400 24 1.5 |1/63| 6 (380|671 444 400 420 80 179 365 548 913| 62 | 22 | 310 320 M20x2.5
WH-4-40-36-22-D 400 36 | 2.2 |1/63 4 380 671/444 400 420| 80 179 365|548 913 62 | 22 | 310 320|M20x2.5
WH-5-32-48-37-D 320 | 48 |3.75/1/36 4 |335/649/360/320 350 80 199 320.55949145 9 | 20 250 284 M20x25
WH-5-40-48-37-D 400 48 3.75 1/45 4 380 696 444 400 420 80 199 365 594 959 31 22 310 320 M20x25
WH-5-50-24-22-D HS5 A 500 24 2.2 1/80 6 |410 774546 500 510 80 199 395 594 989 81 | 25 386/ 335 M4x3.0
WH-5-50-36-37-D 500 36 /3.75 1/80/ 4 410 774 546 500510 80 199|395 594 989 81 25 386 335 M24x3.0
WH-5-50-48-37-D 500 48 |3.75 1/56 4 410 500 510 80 199 395/594 989 81 25 386 335 M24x3.0




w8 ol S ER EE  ALL IN ONE DRIVER

"
H 7 K H
) —
FINL
.Ef:;\kﬁg?”ff

AU g Eﬁhﬁ. .ﬁﬂﬁﬁﬁ' Approximate Dimensiﬂnst:mm). EEES E:f %E,iﬁ Mﬂﬁliﬁﬁa | Sﬂfﬁ,iua |

Model | D28 A Blc D E|F G H| I 3 K %A@ ghmyx(ent) 1y em)2xem)zy )
TPH-12-15| 125 90.5 44 125 95 181 146 1585 51 128 1260 1516 221 = 43 | 03 | 1353 | 9109 | 1853 | 1311
TPH-12-20 125 90.5 44 125 95 181 1461585 51 128 17602016 265 43 | 03 | 1353 9109 | 1853 | 13L1 |
TPH-12-25 125 905 44 125 95 181 150|1625 51  128|2260 2516 309 | 53.8 | 0.4 | 16575| 1000.4| 221 | 1439
TPH-16-25 160 99.5 50 160 108 199 196 213| 51 128 2060 2516 494 @ 53.1 | 0.4 | 29278 12877 | 2901 | 1764
TPH-16-30| 160 99.5 50 | 160 108 199 210 225 51 128 27603016 502 & 68.4 | 0.5 | 3957.1| 16096 3769 | 2118
TPH-20-25 200 110 60 200 120 220|240 260 51 155 22102520 528 | 77.6 @ 0.6 | 6221.1 26529 5184 | 3158
TPH-20-30/ 200 110 60 200 120 220|240 260 51 155 2710/3020 567 @ 77.6 = 0.6 | 62211 26529 5184 3158
TPH-20-35 200 110 60 200 120 220 240|260 51 |155 32103520 606 77.6 = 0.6 & 62211 26529 | 5184 | 3158 |
TPH-25-30. 250 127 80 250 153|254 320 345 75 202 26203024 836 994 @ 0.8 130691 43873 8168 | 4454
TPH-25-35 250 127 80 250 153|254 320 345 75 202 3120 3524 887  99.4 08 130691 43873 8168 4454 T
TPH-25-40 250 127 80 250 153 254 320 345 75 202 320 4024 937 | 99.4 08 130691 43873 | 8168 4454 e
TPH-32-35 320 142 80 320 170 284 424|457 75 |232 30603524 1145 149.3 1.2 354163 101495 1670.6 9144 ‘
TPH-32-40 320 |142| 80 | 320 170| 284|424 457 75 232 3560 4024 1338 1493 12 354163 101495 16706 9144 o |
TPH-40-40) 400 1495 80 400 194|299 475 515| 75 262 3500 4024 1534 139.4 | 1.1 418667 118373 17628 9783 |
TPH-40-45 400 (1495 80 |400| 194 299 475 515 75 262 4000 4524 1606 | 139.4 | 1.1 418667 118373 17628 9783 -
TPH-50-45 500 154 80 500| 194 308|532 586| 75 322 3880 4524 2282 | 242.6 1.9 | 30065 | 1343 D

154

799729 |17324.8




B imSHHTUEE EE WHEEL HEAD

RUCK

YPE END

__L_- K H
e - ) - e
T =P ———— N — :
| =g — T T e
el | I T I i
(Lo i — % o e r
i : __JoC
1= —_—
- | ST I
izt
NS ! A

£ g Eﬁhﬁ. - AN Approximate Dimensions (mm) ez E:E H;E‘iiﬁ MﬂEEEEB | sjtlijféﬁﬂus |
Model | D@8 A B C D|E F| G H 1|3 K| L %2 A@Em)gimxem) )2z (em)zycm)
WHP-12-15 120 103 44 125 104 206 155 165| 51 101/1300 1502145 241 552 @ 0.4 |21404 18642 2762 | 181 |
WHP-12-20 120 103 44 125 104|206 155 165| 51 101/1800 2002 145 293 | 552 0.4 |21404 18642 2762 181 |
WHP-12-25 120 103| 44 125| 104|206 155 165 51 10123002502 145 345 552 | 04 21404 18642 2762 | 181 |
WHP-16-25 160 113 50 160 124 226 188 203| 51 123 22602506 125 460 @ 63.7 = 0.5 | 36096 27393| 384 & 2424
WHP-16-30 160 |113 50 160 124 226 188 203| 51 12327603006 125 488 | 63.7 = 0.5 36006 27393 384 & 2424
WHP-20-25 200 125 60 200 140 250 225245 51 146 22102502 103 562 | 91 | 07 | 72181 49138 6416 3931
WHP-20-30 200 125 60 200|140 250 225 245 51 146 27103002 103| 606 = 91 = 07 | 72181 49138 6416 393.1
WHP-20-35 200 125/ 60 200 140 250 225 245 51 |146/32103502 103 652 @ 91 | 07 | 7218.1 49138 6416 393.1
WHP-25-30 250 150 80 250 184|300 2652075 51 174 26603008 113 875 | 109 = 0.9 122098 91145 9215 6076
WHP-25-35 250 |150 80 250 184 300 2652075 51 174/31603508 113 932 109 = 0.9 122098 91145 9215 6076
WHP-25-40 250 |150| 80 250 184 300 2652075 51 1743660 4008 113 989 | 109 0.9 122098 91145 9215 6076
WHP-32-35 320 1675 80 320|206 335 350 380 75 21630703502 144 1180 158.6 1.2 299019 168242 17087 10044
WHP-32-40 320 1675 80 320 206 335 350 380 75 |216 35704002 144 1376 158.6 1.2 299019 168242 17087 10044
WHP-40-40 400 190 80 400 236 380 420 460 75 258 3500 4016 129 1744 |186.2 1.5 50384.6 25599.2 23993 13473
WHP-40-45 400 1190 80 400 236|380 420 460| 75 258/4000 4516 129 1841 186.2 1.5 |50384.6 255992 23993 1347.3
WHP-50-45 500 (205 80 500 236 410 510 560 75 3053900 4510 129 2458 |284.2 2.2 1019149 36032 39967 17577




iHEREEERM
COMPLETE CRANE COMPONENT SYSTEM AVAILABLE

e ERRERRESHEER - RET2 R

IRREEERE - FPEIMHRRAERBERATEME
FRASEHEM

Black Bear, an international recognized manufacturer
of high quality cranes, designs full range of standard

crane systems, customs cranes for special applications

and produces all their component kits.

EEER

B B0 PRt E i

mEESSRRE

B RERS

B EHREDE Ltand ¢
“E 1T ELE > sl
W B E/50E)/WE) &=

B S/ ERERE

B SR WEEEAR

W 20705t /2 5 2 AT S

W chZe s BRI/ S /R4

B EENESRSE

B SE NSRS

ST ST

* KB EB RIS

STANDARD PRODUCTS

M Overhead Cranes/Gantry Crane

M Clean Room Crane

B Marine Room Overhead Crane

M Electric Wire Rope Hoist

M ElectricChain Hoist

M Plain/Geared/Motorized Trolleys

M Hand Chain Block/Lever Hoist

B Multiple Power Supply System Available

B Top Running/Suspension End Trucks

B Hollow Shaft Type End Truck/Drive/
Gear Box/Wheel block

B Soft Start/Stop Reduction Gear Motors

M Planetary Reduction Gear Motors

B Passengerand Cargo Elevators and

Elevator Traction Machine
#Special Options Available on Request.

.

DU

Kl g I L




